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Q £ P, N PIAP >0 L HAXE A > 0. AT M
QO A>0 LS AL FATEYS PEIFA=PP. HEFEN
Q@ £ A>0 N det(4) > 0.
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Q F Eer=n(=s=0);

Q FEX &5=0;

Q@ W ZTes=n(=r=0)

Q ¥n<Eer=0;

QO Rer>1Hs>1.
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Pt tk: y=ax?
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T R W & T AR

ax® + 2a12xy + a22y2 + 2b1x + 2bsy + ¢ = 0.
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QO Mt d (L kdm)
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CETE

ZRAEE (7.7‘7%_“1’ TeHEZANEE)
o HHEALE & + ,,2 —1;
o WAL @ ;2 L=
o MAHAEHE y = ax?;
Q Bih—_kdm
° ﬂﬁ/\#ﬂx%@x az»
o MAFIFE L =1
° lﬁ/l\ﬁé\‘]l@ x2 =0.
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IRy AR
a11x® + azy? + azzz®+2a12xy + 2a13x7 + 2az3yz

+ 2b1x + 2boy + 2b3z +c =0

{3 okt 0 T 42 4 HAF GE 6 LA AR R AR K. J

YRS ok @B ERERTEA GEF A, do, As RAAE)
Mx 4+ Xoy'? 4+ A3z’ + 20\ x4 2bhy + 2047 4 ¢ = 0.

0 )\1)\2)\3 7é 0 g )\1362 + AQS’Q + )\3‘22 - )\4

o Mg # 0= MEA Ky A
o M =0= ZkH|
Q M, )2, A3 PAANIEER (FH453X M2 #£0 H A3 =0) W
AT+ 32 = b3z +C.
° Eg £0(TRT=0)= &

o by=0HT#0= HH4E R0 4@
o b3=0=c=AMFH
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© Moy PR—AFEER (REHE A #0 B Ay = 0= \y) 220

A %2 :b2y+c.
o by #0(TkT=0)=
o by=0HC£0=>AFTHFE
o b3=O:E:> 'ﬁjﬁé\éﬁ%@

1]

X2+ 4y + 72 — dxy — 8xz — 4yz — 1.
VRV

5 ExaEP= | 26 25 1
0 Y5 2

3 3
= diag(5,5, —4).

P'AP = dia
2 4~/2 =1= #etiam.

di

(x,y,2)T = P(xX',y',7)T = 5x'? + by

77k = (BL7r):

= (x — 2y —42)* — 1522 = 20yz = 1 =0

= (* —2y—42)> = 15(z + 3y)> + * =1
24y -2 =1

= ﬁ‘”ﬁ”ﬂﬁj .

Eik: ety A 525 Bidk FIEE. BE. LIA SHRHE PEHAFRRKS 2023 F =B



